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Section- I
X0 9 (Objective Questions) quTie : 50
Full Marks : 50
s [ § T 50 IR WEAl B STR 30 [HO &R0 Wie W T | W
T 1 ¥ 50 OF BT GAD YT 1 3D BIE |
In Section- I, there are 50 objective type questions to be answered on OMR
sheet. Question numbers 1 to 50 carry 1 marks each.

[ go WET 4 Q50 99 @ YE Uy # 9R faeew Ry v 2 i 9 @ &
a8 2 | 98 e fafed &
In question Nos. 1 to 50 each questions has four alternatives of which only
one is correct. You have to choose the correct alternatives. 50x1=50

1. W WR GH WG S Bl e -

Mean of the first four even natural number will be

(a) 5 (b) 8 (c) 10 (d) 20
2. fivg (4. —6) frg agarie 4 Raa 8 7

In which quadrant does the point lie ?

(a) UHA (First) (b) fe<iia (Second)

(c) T (Third) (d) T (Fourth)
3, PrafaReg 4 9 399 R S e ?

Which of the following is a rational number ?

1
@ B o e © =l @ 7

4. secd5° T HIF &N—

Value of sec 45° will be-
1 1
@ 7 ) V2 ©F 0 @

5. faard ARl ax’ + bx +c =0 Yo ARG AR FFAH BN -
The roots of quadratic equation ax’ + bx + ¢ = 0 is real and unequal if-
(a) b*-4ac=0 (b) b’-4ac<0 (c) b*-4ac>0
(d) T & %3 TE (None of these)
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10.

11.

12.

13.

2

.y Fyommast @ OO ab ¥, O SABI B BT IFFAT
?
e ratio of radii of two circles is a:b, then the ratio of their area will be ?

%:’ﬂz

If
(@) a:b (b) a2:b () b:a (d) ab
(sinB - cos0)” + (sinf + cosf)Y’ = ?

(a) O (b) 1 () 4 (d) 2
135105 2 5 7 B TGP 8—

The mode of 1,3,5,1,0,5,2,5,7 is -

(@) 2 (b) 3 (€) 5 (d) 4
A.P.mmmzaﬁveﬁwsg‘ra‘reﬁwsﬁm—

In an A.P. first term is 2 and common difference is 3 then the 8th term will
be-

&

(a) 21 (b) 24 (c) 23 (d) 26
37 N
405 [ HeH U ©—

. 387 .
The simplest form of 5215 -

43 41 9 129
(@ %5 ®) 75 © 25 @) 135

ﬁﬁ (x1, Y1) (x2, ¥2) 3 (35 Ys)?ﬁ@ B 1 9fg

The points (xi, y1), (X2, ¥2) and (xs, y3) are collinear. If
(@) xi(y2-y3) txys-y0)+txy- y2) =0
() x1(¥2-y3) txa(ys - y1) +x3(¥i - y2) £ 0
(©) yi(xz - x3) +y2(x3 - x1) + y3(x1 - x2)=0
(d) yi(xz - x3) + yalxs - x1) + ya(x1 - x)# 0

3
Ife sin9=*J2:,ﬁTtan9=?

3
If sin = iz_‘,thentan9=?

1
(a) 1 ) 5
(c) NE) (d) 37 ¥ H1g & (None of these)

farg (—6, 11) § W BT AH B —
The value of abscissa of point (-6, 11) is-
(a) -6 (b) 11 (c) +5 (dy -17

&
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. afz Bl a9 B USRS AR [ 39T 8 O SHal |qU % BT A%
BRTT—

If each edge of any cube is / unit then their total surface arca will be-

(a) P o goTE (square units) (b) 4 T $H1S (square units)

(c) 6o S@Ig (square units)  (d) S P it 3318 (square units)

. AR o T B R 9B A+ Tx+H12 B P B, T (okB) BT A B
If o and P are the zeros of x* + 7x + 12, then the value of (a+f) is-

(a) -7 by 7 (c) 12 (d) -12

16. oTEVd TeAT B WiyHaT Bl 8-

The Probability of an impossible event is -

1 1
(@ 1 (b) O ©) 3 (d 3
17. cotd6® . cot27° . cotdd® . cot63° H T -
The value of cotd6° . cot27° . cotdd® . cot63°is -
(a) -1 (b) 1 () O (d) o«

_AB _BC _AC 3 _
18. AABC T ADEF % - " Zr pF 5 © S0(AABC) Td &0(ADEF) &1

ﬁqﬁ?—
AB BC AC 3

In AABC and ADEF, Hr = pp “DF 5 then the ratio of ar(AABC) and

ar(ADEF) is-

(a) 3:5 (b) 5:3 () 9:25 (d) 25:9
19. FrfoaRed § o wAGR 46 78 & 7

Which of the following is not an A.P.

(a) 21,42,63, 84,....... o N P e 8. N—

o) = M A 0 by [ (d) 0:3,0.33,0.333,0.3333, v
20. (3*x2x5) T (32x 2% x 5) BT HEwH FHGID BIT—

The Highest Common Factor of (3*x 2 x 5)and (3% x 2% x 5) will be-

(a) 90 (b) 2700 (c) 1800 (d) 30
21, U fZurdiy 9gus &7 AT 578 & BIT B 7

Which of the following is a graph of a quadratic polynomial ?

(a) T T (Straight line) (b) T (Circle)

(c) drEgd (Ellipse) (d) WRdeld (Parabola)
22, FfE sinA = cosA A tanA & A &—

If sinA = cosA then the value of tanA is-

() 0 ®) 1 (c) w d V3

%
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24.

25.

26.

27.

28.

29.

Which of the following is a quadratic equation ?

(@) ¥+5¥ +4=0 b) £=x-=

@ 22+ 7 =3 @ G+1Y=4

wﬁmﬁﬁwmwm%aﬁﬂﬁaﬂﬁaﬁmﬁww%?
A coin is tossed once, then what is the probability of getting a head ?

1

(8 1 ®) 0 © 3 @ 3

o ol aft & o 2o 8, 1 S G T wws A T A

2
=& Bt ?
21

If the radius of a wheel is —5m, then the distance covered by wheel in one

revolution is-

(a) 390 (m) (b) 60 (m) (c) 8 #o(m) (d) 4 #Ho (m)
TEUE 3x+ 4 BT LIP T

The zeros of the polynomial 3x + 4 is-
4

@ 3 ® -3 © 7 @ -3
Wa@ﬁﬁﬁtﬁwwwwwwm%?

How many tangents are drawn to a circle through a point lying outside the
circle ?

(a) T® (One) (b) & (Three)

(c) & (Two) (d) emfrT (Infinite)

TR Yy +5=0%F HA o

The roots of equation Y +y+5=0is-

() FEIAE AR AT (real and unequal)

(b) arfd® SR T (real and equal) (c) AR &l (no real)
(d) arifad (real)
ﬂﬂqq}’ﬁﬁaﬁ%ﬂb?ﬁmﬁa=bq+r?ﬁ—-

For two positive integer a and b if a = bq + r then-

() 0<r<b (b) 1<r<b © 0<r<b (d) 0<r<b

By



32.

33.

34.

35.

36.

37.

sin 64°
cos26° PT HIT gIT—

sin64°

The value of c0826° will be-
(a O (b) 1
(c) -1 (d) 7 9 PIE 78I (None of these)

. AABC # AB=13390, BC=12390 a2amr AC=5990 a1 ZC=7

In AABC, AB=13 cm, BC=12 cm and AC=5cmthen ZC=7
(a) 60° (b) 45° (c) 90° (d) 130°
x- 38 ¥ 475 P(-3, 6) & 3 8—

The distance of the point P(-3, 6) from x-axis is-

(a) -3 (b) 3 (c) 6 (d) 35
g Jo B oI @1 o U 2:3 ofR S SISl BT U 32 8
S AT BT FIUIT B—

The radii of two cylinders are in the ratio 2:3 and their height in the ratio
3:2. The ratio of their volumes is-

(a) 2:3 (b) 3:2 (c) 4:9 (d) 9:4

IR TP W W BT A o, W R SEE ¥ 3§ |
I BT B—

If the length of the shadow of a pole is V3 times its height then the angle of

the sum is-
(a) 60° (b) 30° (c) 45° (d) 75°

e &7 R 7 90 & o SHGT TaaT BN

The radius of sphere is 7 cm. Its volume is-

(a) 1437 350’ (cm®) (b) 1438 TH10° (cm®)
(©) 1439 ¥0° (cm®) (d) 14375 0’ (om’)

YEES AB &1 W g P(2, 4) R 1Al B @ s (6, 8) @ Y A @
[RRIGCASIE

The mid point of line segment AB is P(2, 4). If the coordinates of B are

(6, 8), then the coordinates of A are-

(@) (2,0 (b) (-2,0) (¢) (0,2) (d) (0,-2)

PQR 3R QST & wHaTg B[l 9 UaR 8 f& S o QR &7 wegfamg &
frgsii PQR 3R QST & &%l &T aruTe 8-

PQR and QST are two equilateral triangles such that S is the mid-point of
QR. Ratio of the area of triangle PQR and QST is-

By~



41.

42.

43.

44.

45,

(a) 4:1 (b) 1:4 ) 2:1 (d 1:2

. uﬁa,b,cma?ﬁ‘c,ﬁﬁ%,aﬁbﬂ

Ifa, b, carein AP.thenb= ?

a— a+c c—d at+c

(@ 5 ® © @

8sec’A - 8tan A =

| (a) 1 (b) 0 (c) 8 ) 6
40.

Hﬁ@mﬁagﬁpx2+3x+p?ﬂ@w—2§ﬁpﬁﬂﬁm—

If one zero of the quadratic polynomial px2 + 3x + p is -2, then the value of

p will be-

6 -6 5 -5
@ 3 b) 5 ) % d -

ﬁwﬁ@PﬂoﬁmMﬁWPAMPBWWW
60° B BT W FS B, dl LAOB TR B—

If tangents PA and PB from a point P to a circle with centre O are inclined
to each other at an angle of 60° then ZAOB is equal to-

(a) 140° (b) 90° (c) 80° (d) 120°
1-cot? 45°

1+cot?45° ~

(a) -1 (b) 0 () » (d 1

AABC & ZA = 90°, AB = 5 |90, AC = 12 90 @2 AD L BC df AD
CRCEE
In AABC, ZA =90°, AB =5 cm, AC = 12 cm and AD L BC then AD is

equal to-

(a) lg% JHI0 (cm) (b) ;—Z JH10(cm)
60 3

(© 13 FHo(em) (d) —1‘/; I10(cm)

cos(90° - @) IXTER BT B

cos(90° - ) is equal to-

(a) sin@ (b) cosd (¢) -sinb (d) -cos@
aﬂﬁroﬁwmﬁﬁzﬁzﬁaﬁs@ﬁo?ﬁuﬁwﬁ@ﬁww
Sy T e Y g Ef-

The length of the tangent drawn from a point 8cm away from the centre of
a circle of radii 6 cm is-

Y



48.

49.

50.

. Pz # STl QR @Y x &7 #19 E1T—

(a) 7 @0 (cm) (b) 3v7 0 (cm)
(c) 247 o (cm) (d) 1190 (cm)

. PrefaReg § frasr 9 V2 © aRER BT Y

Which of the following is equal to V2 ?
(a) cos30° (b) sin45° (c) cosecd5®  (d) sin30°

In figure ST || QR then the value of x is -
(a) 13 (b) 11

{c) 10 (d) 14

HETT BT PIT BT B—

The angle of semicircle is-

(a) 60° (b) 180° (c) 30° (d) 90°
fasg (-3, —5) 3k fag (0. 4) 3 g o T Bl

The distance between the points (-3, -5) and (0, 4) will be-

(a) 90 (b) 1043 (©) 3v10 d) 910
I FHERO 2x+y =6,4x -2y =4 BT —

The pair of equations 2x +y = 6, 4x - 2y = 4 has

(a) @S B 78! (no solution) (b) TI & (two solutions)

(c) @fged & (unique solution) (d) 3URMT & (infinite solution)

v
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Section- I1
IR IRIFTS 93T (Non- Objective Questions)

ST 9% (Short Answer Type Questions) P : 50
oy

Full Marks : 50

fader: go W= 1 9 22 9% qHsTdy v 2 | W @ dad 15 yw o7
IR | 9 I D TIPS Yo & 1w 2 of FeffRa & |

Instruction : Question Nos. 1 to 22 are short answer type. Answer any fifteen
questions out of the following. Every questions carries 2 marks. 15x2=30

1.

Yfaers fauror TemRen &1 waT v 135 &R 225 BT HeOW @HOGS®
T HIAY |

Find the HCF of 135 and 225, using by Euclid's division algorithm.

g P (Solve)

3 -5x+2=0

0 3R 50 B dra & T faww e B AR ST AR |

Find the sum of all odd numbers between 0 and 50.

ABC 1% gHfgarg 2wt 2 e ZC a9aiv & fyg #IRw f
AB*=2AC"

ABC is an isosceles triangle, right angled at C. Prove that AB? = 2AC?2

Rig PR & 745 7o sraRe e @

Prove that 7v5 is an irrational number.

U femra ague wna P, Rrad qiel w1 A qor queEwer s
—6 3 4 7 .

Find a quadratic polynomial, the sum and product of whose zeros are -6
and 4 respectively,

AABC % DE || BC 59 wsR & f5 22-2 ufy AC = 5.6 90 @ a1 AE

DB 5
T FIRT |
In AABC, DE || BC such that %% If AC = 5.6 ¢m then find AE.
g EI;H\LrlQ f& (Prove that) :

tan@—-sind secf-—1

tanf+sin 8  secH+1
xaﬁvyﬁqzﬁwawaﬂm,mﬁsﬁg(x, y) figati (6, 1) qem (3, 5) &
AT & |

74



13.

14.

15.

16.

17.

18.

Find a relation between x and y such that the point (x, y) is equidistant
from the points (6, 1) and (3, 5).

52 Uil B! I THR W Bl TS 0B T ¥V VS uwl P o 2
ATl T 1 IS T4 BT YT B BT WIASAT S0 SIS |

One card drawn from a well-shuffled deck of 52 cards. Find the probability
of getting a king of red colour and an ace.

. A 1feg (Evaluate)

sin? 65°+sin? 25°
cos? 259+ cos? 65°

. k @ b 79 B fov WRew wfimR Fdmg sx + Sky = 0, 3x -y = 0 @

afgea &1 B8 |
For which value of k the system of linear equation 5x + Sky = 0 and
3x - y = 0 has unique solution.
37
753 P SuHad w9 fafay |

37
Write the decimal form of Py

figatl A(-3, 10) 3R B(6, -8) & fie™ a3 YaE@s P fag P(-1, 6) frg
U 4 dfear & ?

In what ratio does the point P(-1, 6) divide the line segment joining
A(-3, 10) and B(6, -8) ?

A O P a7 g9 & T P g ¥ g9 w 2 Wyl ¥@ PA @ PB
il 78 © o Rig #IRT f$ PA=PB |

If PA and PB are two tangents drawn from an external point P to a circle
with centre O, then prove that PA = PB.

<1 Wil BT HETH WD 21 T FgaH WANTe 147 € | afY geel
HET 63 81 A SHY W& ST iy |

The HCF of two numbers is 21 and LCM is 147. If one of the number is
63, find the other number

" 25
?Iﬁ.*sece=7 O sind T tanB BT A I FINTT |

25
If secO = - then find the value of sin® and tan®.

71 IR &1 9y s AR

Find the mean of the following data.

Wy
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qIf—37are (Class interval)

10-20

20-30

30-40

40-50

50-60

4

6

8

4

2

qRIRdl (Frequency)

19. TP S H 6 oIlcT B3, 7 Bl DA RS EX PA T | AR A F @

20.

21.

HAT AGBAT FHTAT I 2 | 39D &7 Uidwan & 6 Faren wan &=
B 8§ 7

A box contains 6 red marbles, 7 black marbles and 5 green marbles. One
marble is taken out of the box at random. What is the probability that the
marble taken out will be not green ?

figatt A(2, -2), B(-4, 6) 3R C(-3, -7) ¥ 79 el AABC &7 &3%d =1d
BINTY |

Find the area of the triangle formed by the points A(2, -2), B(-4, 6) and
C(-3, -7).

frferRag IRaRar R aroft & Argd—ait &1 Frea—dmr @ & ?
What is the lower limit of the median class of the following frequency
distribution ?

qIf—ja_TeT (Class interval) | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
gIRENT (Frequency) 4 4 6 8 6 10
22. < Haow gar o g 5 ¥ &k 3 Ao B | 99 g9 A 99 ST A
dag T ST, & BIC g7 B W B ¥ |
Two concentric circles are of radii 5 cm and 3 cm. Find the length of the
chord of the larger circle which touches the smaller circle.
drd I8 9T (Long Answer Type Questions)
e g7 d=m 23 € 26 a9 O ST T R | o eI B e
e 3 forg 5 &fe fuifRa 2 |
Instruction: Question Nos. 23 to 26 are long answer type. Each questions
carries 5 marks. 4x5=20
23. Rig X & o wwelvr Bys # &9 &1 o org Q) et & 9t & Qi

S IR BT § |
Prove that in a right triangle, the square of the hypotenuse is equal to the
sum of the squares of the other two sides.

Jrerar ‘or'
5 AHI0 BT TP g1 i | g B & W @R EiY S v ¥ Uh g
H 60° BT R PP T |
Draw a pair of tangents to a circle of radius 5 ecm. Which are inclined each
other at an angle of 60°,

Oy



24,

25.

11

I A | 8 T (Solve Graphically)
Sx-y=57 (and)3x -y =3
Jerar 'or'

Th YA UH FHAE a1 A 360 fEHI0 @ A g HaAr g | AT TE
=T 5 Tl /ger affe ercll, of a8 ST ar=m & 1 Her &9 9Hdg ol |
NI &Y AT S BIoTg |

A train travels 360 Km, at a uniform speed. If the speed had been 5 Km/h
more, it would have taken 1 hour less for the same journey. Find the speed

of the train.
UE 3 o 120 |0 S 3R 60 Wl f3rean gren U wq AfHEferd

2, T 60 9HI0 9T a1l TP G W ARG & | 39 39 B g |
R EY TP o9 A Jo9 ¥ 39 YHR ddad S o o © o a@w
I B qell B WY BN | T o B A1 60 |0 2 3R HAR 180

Wrflo & o1 35 A9 9w 1 oA W ARG (1= = AR

A solid consisting of a right circular cone of height 120 ¢m and radius 60
cm standing on a hemisphere of radius 60 c¢cm is placed upright in a right
circular cylinder full of water such that it touches the bottom. Find the
volume of water left in the cylinder, if the radius of the cylinder is 60 cm

and its height is 180 cm. (usen=%).

J1erer 'or'!
HArepfcr #, 56 Hi0 ol del U bR dlid
ABCD & Tl 3R g1 g3 31 JUIBR Gal &l
wRIT 7% TE B IR uhe FHER R
BT B @ B fAbul &1 yfoeeg fig P g, @
TSR A AT Fell 1 FARA B SFHA B
AT 519 AR | (n= 2= M)

In figure, two circular flower beds have been
shown on two sides of a square lawn ABCD of
side 56 m. If the centre of each circular flower
bed is the point of intersection P of the
diagonals of the square lawn, find the sum of
the areas of the lawn and the flower beds.(use ©

22
=?)

by~
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26. GYE acl W 756 Mo Y YHE TE B R A @ W < YA FES B
FTTHT PIOT 30° MR 45° & | AR GHT TE D TEF & AR UH BN TR
e @ @ 40 8 o < e @ §" B @ F e | (V31732
fTY)

As observed from the top of a 75 m high light house from the sea-level, the
angle of depression of two ships are 30° and 45°. If one ship exactly behind
the other on the same side of the light house, find the distance between the
two ships. (use V3= 1.732).

areqar 'or’
g ooy & (Prove that)

sinf—cosf+1 _ 1
sin@+cos@~1  (secf—tand)

g
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wWUs— | (Section- I)

ITHTAT (Answer)

(b)
(c)

26.

<
i

7.

(©)

(©)

28.

()

(d)
(b)
(c)

29,
30.
31.

(b)

(b)

(©)

32,
33.

(d)

(2)

(b)

34.
35.

(d)

(b)
(2)

36.
3
38.

(b)
(c)

39.
4.

(a)
(d)

4]1.

(b)

42,

(c)
(a)

43,

44,

(c) -

45.

()

46.

(d)
(b)

(b)

47.

22,

(d)
(c)

48.

(d)
(c)

23,

49.

24,
25.

(©

50.

(b)
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EUS— II (Section- IT)
ITINHTAT (Answer)
& TE d&ng g, 135 ud 225
225> 135
qﬁaeﬁmmwﬂﬁwzﬁm
225=135x1+90
L ANHA 90 #0
S 135=90x1+45
L OYEH 45#0
I9: 90=45x2+0
L IEHA =0
. 3T ST 45 B |
. 135 T 225 ©T HCF =45 Ans.
3x%-5x+2=0
=3x%-3x-2x+2=0
=3xx-1)-2(x-1)=0
=x-1)(3x-2)=0
=x-1)=03d,3x-2)=0
=>x=1 q7, 3x=2

2
=>x=1 aN,  x=3

Fd: x =1, —Wﬂfaﬁ‘a’?fr*s‘iAns

0350 & &g RAyg T 2 : 1, 3, 5, 7 v

3 Hemd AP.H§ |

el sifcd g (/) =49 o ug (a) = 1

TR (d)=3-1=2
[I=a+(n-1)xd

= 49=1+(n-1)x2

=>48=(nh-1)x2

48

S.nh=25

=n-

. R QT = —x(a+l)

S
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— _255_)((”49):2—25)(50:625 Ans.

feay srar & f5 AABC HH®I0T WAIEEE A 2,

T ZC 9ador & |

SBC=AC .o, (i)

UEUFIRE W ¥, AACB 9
AB>=BC?+ AC?

3 = AB*=AC?+ AC? (" BC = AC)

i = AB?=2AC? Proved

!- 5. A forr B 742 o o e d |

3Tﬁ:'§'=7~/5 (Gl p Ud q TORR YOIid 8, M p W@ qH 1 &
faReT I WIS UHES &l 2)

3 TR () ¥ V2 ff T uRAT dem el |
Teld DU S MR WX R Ui 81T ©
ard: 75@@?@?@%

6. WM f& o T P enfie 98UT p(x) P YD © |
Wo+P=-67apf=4
L pE) =% - (ot B+ ap

=x2-(—6)x+4=x2+6x+4

37e: IR gUE p(x) =x° + 6x + 4

AD 3
7 ﬁ?JTTmT%‘,DE||BC3ﬁ?E=g,AC=S.6cm

*DE|| BC A
AD  AE

“ DB EC D E
3 AE

=5 EC A
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iz
0

|

U
[ w|w
o
1
| txy
0
s

]
=
s
t
0

U

oo wloo wloee W
M
(&5

y
SEE b

U

= 8AE=5.6x3=16.8

16.8
= AE = _é_ = 21

SLAE=2.1cm Ans.

tan 8 -sin &
8. LHS. = ‘tng+sing

L ‘Z —sing
cOS ind
= sin0 (~tan® = —

)

cos@

+sin@
cost

sinﬁ[ . -—1)

costd

= sin 9( L +1}
cosf

secf—1

= Secd+l =RH.S. Proved.

9. = form 5 g P(x, y), fgatt A6, 1) 8IR BG, 5) W THGE B |
areriq AP = BP
3t (APY = (BPY’
= (-6 +(y- 1P =(x-3+(y-5)
126 +36+y -2y +1=x"-6x+9+y - 10y +25
= -12x + 6x - 2y + 10y =34 - 37
= -6x + 8y = -3
= -2(3x - 2y) =-3

pLxet)

A (6 (35)

3
=3x-2y=75
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. 3
Gﬁ:mﬂﬁ‘EW3x—2y=§% I Ans.
10. 7 £ 5 E, = od 1 &I 9IGE 8 B gl
E,=ge®l B ®I Tl

S =l H9g yRomH
~n(Ey) = 2, n(Ez) =4 T n(S) =52
nE) 2 1
T PED= 75y T2 26
n(Ey) _4 _ 1

PE)= ") 52 13

sin? 65°+sin225°  {sin(90°—25°)}" +sin” 25°
M cos?25%+cos? 65° {cos(90°—65°)}2 +cos? 65°

cos? 25°+sin? 25° - sin(90°-0) = cos &
= sin2 65°+ cosZ 65° cos(90°-@)=sin @

-sin? @+ cos2 =1

I

— — | =

Ans.

a b
12, YWge TEEROT BT e A BN A j#i

Hﬁa|=5,b1=5k,a3=3 ?-MTb2=-1

5,5k
S 3 -1
= 15k £-5
-5,
=k# 75
| -1
l :>k7£? Ans.
| 37 37 xf_
‘ 13. 24452 hys? 52
‘: 37x25 925
= 24xst (2x5)*
925 925

=0.0925 Ans.

= 10)* 10000




14, A % apfe orgura 1k 7 |
AL Bk 8

/ ~8
G3410) (~1,6) G )

_ Ix6+kx(-3) 1x(-8)+kx10| _
fawe = @ P& fFewn® ok 1+k |
dfeT P & fden® (-1,6) § |

1x6+kx(-3) _ Tl 1x(—-8)}+kx10 =6

1+k 1+k

=> 6-3k=-1(1 +k) gl -8+ 10k=6(1+k)
= -3k+k=-1-6 Tar 10k-6k=6+8
= 2k=-7 T 4k=14

_7 _14_7
:Dk—g qar k= 23
k=3 S RARAR

-, I 3OTd = 1:% g 2: 7

39 USR P, AB &I 2: 76 dicar 2 | Ans.
15. Rig &1 2 5 PA=PB

- OH A, B 3R P fiyemar |

TAOT— - OA g7 &1 a1 aur AP el Y@ & |
. ZOAP =90° g1 9&R LOBP =90°
39 AOAP @1 AOBP #
OA=O0B (T & g &I B 8)
ZOAP = LOBP = 90°
AT OP = OP (SHIW)
.. RHS Hairewar 9, AOAP = AOBP
3. PA =PB qifdd g3 |
16. . UEl AT x THY AT = I} GAT3 BT HOWO x 0 WO
= 63 x AN T =21 x 147

_ 21x147
= @ EE = — o =9
37T I TNl AT = 49 Ans.



18.

19.

19

17 7 B f5 ABC te @ A ¥ | o £B=90° e LACB=0

25 AC
ol secO = 7~ BC A

a7 f5 AC =25k @2 BC =7k

ot ke wEn R | 25k
qreuTNE W ¥, AC’=AB’+BC’
= AB?= AC?-BC? N Ne
— AB?= (25k)’ - (7k)? ~ TK

— 625k? - 49K® = 576k*
— AB = V576k* =24 k

., AB 24k 24
cosing = T T Her T 25
AB 24k 24
tan8=§E=-:,k—=7 Ans.
qIaE RN CUSRECEC] fix x;
C.L ) (x1)
10-20 4 15 60
20 -30 6 20 150
30-40 8 35 280
40 - 50 4 45 180
50 - 60 2 55 110
T fi=24 Sf x; =780
Zfixi 780 65
A (X) = Zf' = 4 =7=325 Ans

~n(S)=6+7+5=18

n(H)=7
. _ Ry _ 4
- P(H)= «S) 18
— 7 11
PH)=1-PH)=1- 13 = T3 Ans.

'



21.

22.

20

* AABC & &9%d = ‘l‘[xl(yz —y3)+ % (3= ¥+ 33 (1 = 3)]
2

el x1=2,y1=-2,xs=-4,y,=6,x3=-3 T y; = -7

= SR D+ T~ (-2 +(-3)(-2)~6)]

2
=%(2x13+ 4x5+3x8)
=%(26+20+24)

1 1
——(70)= = x 70 = 35

20) 2"

3 st &1 &a%d 35 o W § | Ans.
C.L )
0-10 4 4
10-20 4 8
20 - 30 6 14
30 - 40 8 22
40 - 50 6 28
50 - 60 10 38
N=38
Usl N=38
N 38
31q: ?—j2——19

Ll ol =g~®aﬁ$ﬁvﬁwmmwﬁ—m

AR T = 2199 afivw o Frcad s aRaRAT 22, R i

3fTRTeT 30-40 & |

S "SI =30 - 40

qeges 9 $Y f—d = 30 Ans.
" ferar & =1t &1 SWafs @5 02 |

A foram f& 88 g9 Y a1 AB B g

Bl C R W Hl 2 |

OA 71 OC &T e |

N/

g
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ar OC L AB

.. AC=CB

FHHT AACO #

0A’=AC*+0C?

“* QA = 59910, OC =3 |90

= AC*=0A*-0C?
=(5)*-3Y )
=25-9=16 9H0° '
AC =16 = 4310

39 AB=2x AC=2x 4 d#0 =8 ¥HI0

T aIe AT @) «iaTg = 8 |H0 Ans.

23. #4 feram f ABC & |HIU S © |
" ZABC =90° q2m AC &9 & |
g &1 € f&— AC*=AB*+BC?
39— B ¥ BD, AC R &9 @i |
gao— AADB @2 AABC &
ZBAD = /BAC (3¥WI-s &)
ZADB = ZABC (- Fq®101)
. AADB ~ AABC (@19 SHIv—aFaqdl )
AD 4B
= 4B 4C
= ADXAC=AB?> ... (i)
g: ABDC Tor AABC #
ZBCD = /BCA (S¥afTss o)
£BDC = ZABC (- qH®I)
. ABDC ~ AABC (@17 HIU—GFwad )
DC _BC

= BC AC

= DCXxAC=BC? e (ii)
(i) T (i) B TeA W, BH U & b

AB?+BC?= ADx AC +DC x AC

= AB?*+ BC? = AC(AD + DC)

4

A
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= AB>+BC?*=AC x AC = AC?
- AC?= AB?+ BC? Proved
Jerdr 'or'
AT & TR
() 5 Jto Brear &1 e g i |
T @ B O fomm =m0 |/ OX
TH YGrEGUS Eir | X
(i) fa/g O W OX & | 60° BT DIV
FAET | OA YEEUS g & A W
yfoess ST © |
(iii) & TPR LPOB = 60° T @ &R TR0 | Y& XGEUS I Hl
oRf & B R et 2 |
(iv) 379 OA 3R OB W 90° & I I1T TAT AP, BP YW1 &ien i ¢
TR $I P W uReT Fdl @ |
(v) AP 3R BP g0 @I @1 anfre wei @il € o AP = BP, ZAPB = 90°
® |
. Sx-y=57AT 3x-y=3
THHT 5x-y=59

y 0 3 -3
’ S

X €1
ks -4y -3 -2 ~10]

T arerd! & weM-fag (1,0) § |
Jd 8l x=1,y=0 Ans.

-

"\(_‘

v
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310dT 'or'
= forar f Yermet @) I =xkm/h B |
& =360 km

=8 360

qlel X
FHEER, R Te 9eM W, @re = (x + 5) km/h
360
IT /I = 445
360 _ 360 _
x x+5
360(x +5)-360x _,
x(x+5)
360(x +5-%) _
= x(x+5)
360x5 ~1
= x(x+5)
=360x5=x(x+35)
= x>+ 5x-1800=0
IE U fgurd eI & |
J&f a=1,b=5,¢c=-1800
D=b%-4ac=(5)-4x 1 x(-1800)
=25+ 7200=7225
~b+JD _ —5+/7225

are: .

=

X = 2a 2xl1
_ —5x85
T B
—5+85 -5-—85
e X T > q7 >
30 90
:>x=7 IITT

= x=40 A1 -45
et x = -45 Iy (Rifs FoTeTE 8)
S x =40 km/h
3T 3t ST B =T = 40 kiv/h (40 foo / Ee)

-

Ans,
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95 Y9 P AT = nrh

o 22
el t= - ,r=60cm,h=180 cm

22
doT BT ™A = ‘:I,‘x(60)2x180cm3
22 ;
7x3600x180 cm
1 S T I = W BT ITTAT + G BT A
1

= 371'.1' 37121'

3

L
= 3 (h+ 2r)

1 22 2 3
= X7 X(60) (120 + 2 x 60) cm
22

~ 3x7

#f dom # T & iR SN B derT F S W R | o Fee gy A

& g1 939 F A9 gl BT SAT = S BT IMFAT — SN BT A

x 3600 x240 3

_ 22 3 22 3

=7 x 3600 x 180 cm™ - E,))(,;,1113600);240 cm
22 1

=X 3600 [180—?);240] cm’

22
= =-x3600 (180-80)cm®

2 3
= TX 3600 x 100cm

7920000
7 cm

= 1131428.572 cm® = 1.131m’ (@) Ans

arerdr 'or' “,/’”—\
AR AF D Yoll =56 m A \%\\\\\\\\,&
FMHER @ ABCD T &3haT= 56 x 56 m"......(i {
w forar f6 PA=PB=xm ¥ |
A X+ % =56

2x* =56 x 56

X =28X56 corerrrenenees (i)




. 7 fern f AB geter 77 (light house)

25

X =28%X56 o, (11)
. 90°
39 TS PAB @1 &5we = o5 x
- 1 22 5 .
= 7X 7 X28x56m ... (111)
(AR (ii) )
| .
I7: PAB &1 83%el = x56 X 56 m’ .....ccccc..c (iv)(LAPB = 90°)
R AB &7 87%a = f35g@s PAB &7 &0 — APAB &7 &0
L2 2 1 2
=3X5 Xx28x56m" - 4)‘156x56m
1 22
=7 x 28 x 56 (T_Zsz
_1 8
| = ZXBS6X, M e, (v)
1 8
RN TR I TN BT &THA = ;x28X56X-m° oo (vi)

- QTFIIU'? %A = (56 x56+2x%x25x56x—§-J il
| (w0 (i), (v) T (vi) 9)

138
=28x56[2+5x7]m2
4
=28 x56[2+7)m2

18 ,
=28 x 56x —m
=4032m’ Ans.

- — — -

qgT C 97 D ST S8Tell & Wb & |
WW%MW?@HH&@CD:xm
AABD #

o_ 4B 75
tan4d5 = 3D
75
:I:E
=>BD=75m . B
cC «*Am D
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U9: AABCH

AB

tan30° = BC
1 75
= /3 T BD+CD

I 75
:—E=75+x (' BD=75cm)

(+*BC=BD + DC)

=>x+75=7543

! = x=75(5-1)
=75(1.732- 1) (V3 =1.732)
=75%x0.732
=549 m

T STETSl B @ g8 =54.9m (549 #i0) Ans.

A4 'or'
sinf —cos@+1
sinf@ +cosd -1

L.HS. =
31T (numerator) T & (denominator) # cos® & WFT @ WX, &9 Uy ¥

sind 1
-1+

cosé cosd
= sin@ 1
+1

cosé cosd
tanf — 1+secd _(secO+tanf-1)
tan@ + 1-sec@ (tanf-secd+ 1)

(sec@+tan ) — (sec? O—tan? 8)
- (tan@-secd +1)

_ (secO+tanB)[1 - (sechd-tang)]
- (tan@-secO +1)

(sec6’+tan6')(tan9—-sec9+1)
- (tanf-sec @ +1)

1
secf —tang

(" sec’® - tan%0 = 1)

= (secO + tan0)

RHS. =

seczﬁ—tanzé’ 5 s
= (1 =sec’0 - tan’p)

secd —tand
(sec 8 ~tan@)secd +tan 6)
= (sec6 —tan0) = (secO + tanB)
LHS=R.HS. Proved

b/



